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(N) M) (L)
1
(kg/n*) 5 | 2 26
wiC a B Y Vo
| c|w| s G (%) (%) (%) (%)
6
0125]50] 0o | 25 ] 50 | 0 | 25 | 50| 0 | 25 | 50 (x 10%)[ (mm)
45 | 378 | 170 | 881 | 871 |51 | 3.9| 25| 511 | 402 | 412 | 008 0.09| 008 | 0.07 | 0.03 | 001| 452 | 699 | -
35 | 486 | 170 | 1251 | 397 | 5.0 |38 | 2.4 | 116.0 | 110.3 | 110.3 | 0.06 | 0.05 | 0.06 | 0.04 | 0.01 | 0.01| 63.7 | - 03
35 | 486 | 170 | 793 | 871 | 46 |34 |19 | 972 | 90.3 | 851 | 010|011 | 011 ] 0.05 004 | 0.01| 507 | - 0.2
35 | 520 | 185 | 720 | 871 | 5.1 |38 |23 | 833 | 78.6 | 743 | 007 | 0.04 | 0.01 | 0.06 | 0.05| 0.05| 61.7 | - 03
35 | 486 | 170 | 793 | 871 | 48 | 3.7| 3.9 | 518 | 450 | 409 | 0.10| 0.06 | 0.04 | 0.05 | 0.02 | 0.01| 61.8 | 6.49 | -
25 | 680 | 170 | 673 | 871 |35 | 25| 1.8 | 543 | 49.1 | 416 | 009|012 | 0.14 | 0.03 | 0.01 | 0.01| 96.7 | 532 | -
45 | 411 | 185 | 821 | 871|509 | 4.7 | 34| 458 | 395 | 20.8 | 0.08] 0.05] 009 | 0.11 | 0.04 | 001| 451 | 7.10 | -
35 | 486 | 170 | 1259 | 397 | 5.1 |35 | 2.2 | 111.1| 99.6 | 803 | 0.07 | 0.04 | 0.01 | 0.05 | 0.04| 0.04| 605 | - 05
35 | 520 | 185 | 725 | 871 |51 | 3.4 | 21| 833 | 801 | 802 | 0.05| 0.02 | 0.02 | 0.06 | 0.05| 0.01| 66.1. | - 03
35 | 486 | 170 | 800 | 871 | 46 | 3.4 | 1.9| 366 | 23.7 | 262 | 0.09| 0.06 | 0.45 | 0.06 | 0.02 | 0.00| 58.2 | 6.98 | 02
25 | 740 | 185 | 593 | 871 | 2.9 | 1.9 | 1.4| 301 | 20.8 | 145 |020] 0.15 | 0.11 | 0.03 | 0.02 | 0.01| 96.7 | 571 | -
45 | 411 | 185 | 821 | 87160 | 40| 28| 607 | 39.1 | 314 | 008|007 ] 036011002 001] 398 | 672 | -
35 | 486 | 170 | 1259 | 397 | 5.3 |35 | 2.1 | 125.0 | 110.2 | 995 | 0.07|0.07 | 0.04 | 0.04 | 002 | 0.01| 55.0 | - 08
35 | 520 | 185 | 728 | 871| 6.2 |41 |29 | 694 | 58.6 | 447 | 0.10|0.09 | 0.08 | 0.09 | 007 | 0.06| 56.2 | - 06
35 | 486 | 170 | 800 | 871 | 46 | 29 | 1.6 | 395 | 40.4 | 404 | 0.06| 0.13 | 0.31 | 0.07 | 0.02 | 0.01| 66.0 | 6.66 | 05
25 | 740 | 185 | 596 | 871 | 3.4 | 20 | 1.4 | 312 | 17.9 | 154 | 014 0.16 | 0.11 | 0.03 | 0.02 | 0.02 | 1000| 589 | -
*1 C ) ( )
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N: o =W/C(-0.001x w +1.4)-0.01a+12.1 2)
3. M: a =WI/C (-0.001 x w +1.0)-0.002a+10.3 3)
3.1 — L: o =W/C(-0.001x w +9.9)-0.005a-11.3 4)
(®)
(a) 1 2 a-t N : B =W/C(-0.001 x w -0.16) -0.3a+29.7 (5)
B =WI/C (-0.001 x w -0.17) -0.3a+215 (6)
3 L: B =W/C(-0.01x w +1.2)-0.02a+6.2 )]
a B
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+ 5%

@) (10

N : W/C ={(V24+0.1)/( w -130)+0.0003} x 5000 (8)
M : W/C ={(V24-0.003)/( w -101)-0.0007} x 5000 9)
L : W/C ={(VV24-0.06)/(w -76)-0.003} x 3333 (10)
wiC: (%)
V24 :24 (%/h)
w: (%)
*
ap
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-1
+ 10%
®)
a -1
12
(WIC)
(W+C) 26 S,
(G K
N :S26=1.5{(5 x W/C-1) x (W+C-230)+630}+314 (11)
M :S26=1.7{(5 x WIC-1) x (W+C-230)+630}-1816 (12) E
L : S26=2.7{(5x WI/C-1)x (W+C-230)+630}-779 (13) =
S26 : 26
(x 10-6)
W/C : (%)
W+C : (kg/m3)
(11) (@13) 13 15
+ 5%
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